Problem 3.3

Find V2 in the circuit using nodal analysis


[image: image1.wmf]         +

         V

2

         -

         2k

W

4 mA

         8k

W

         6k

W

V

1

V

2


Suggested Solution


[image: image2.wmf]         +

         V

2

         -

         2k

W

4 mA

         8k

W

         6k

W

V

1

V

2



[image: image3.wmf]112

212

1

1

2

2

4

24

6

46

1114

244

22

1116

446

VVV

kkk

VVV

kkk

V

kkkk

VV

V

kkkk

-

-

+=

-

+=

-

éùéù

+

êúêú

éù

=Þ=

êúêú

êú

-

ëû

êúêú

+

êúêú

ëûëû



[image: image4.wmf]22

V


Problem 3.10
Use nodal analysis to find out I0 and I1
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Problem 3.31
Find Vo in the circuit shown using nodal analysis.
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Problem 3.44
Use mesh analysis to find Vo in the circuit shown.
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Problem 3.46
Use loop analysis to find Vo in the circuit shown.
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Problem 3.51
Find Vo in the circuit shown using mesh analysis.
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